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#include<stdio. h>
int main(void) {
int i = 0;
char s[1000];
scanf ("%s”, s) ; //while SCIT O FPRAE Z A (L) 2, GO 72 TNZ++)
while (s[i++]) {} //EFOKDY 273 3Y¥0 FHAEAITIT 0 2D TE 2T 8V

i—; [/ ETitH; 2L TW5, i IZXFH+1ETHEILDOTi—;
printf ("%s 3% LFETY, ¥, s, 1)
return 0;

2. ANENT=XFO/NLTFHRLFICLTHADESETLEEN,

#include<stdio. h>
int main(void) {
char s[1000];
int i = 0;
scanf ("%s”, s) ;
while(s[i] 1= "¥0"){
ifCa <=sli] & sli] <="72") /)2 %% if XTEBMHEE LTRET,
s[i] —= 32;
it++;
}
printf ("%s”, s);

return 0;

Page.1



% V[

1. \&

#include<stdio. h>
int main(void) {
char s[1000];
int i = 0;
scanf ("%s”, s) ;
while(s[i] !="¥0") {
if(s[i] ="4a")

sli] =7¢";
else if(s[i] =="¢")
sli] =7a";
if(i 1= 0){
if(s[i-1] == "t"){
if(sli] ="1")
sli] =70 ;
else if(s[i] == "0")
s[i] =713
}
}
i+

}
printf ("%s”, s);

return 0;
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//a — e

//e — a
//ti € to
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#include<stdio. h>
int main(void) {
char s[1000];
int m[6] = {0}; //m[0]=m m[1]=a m[2]=K
//ml3]="1"  m[4]="t"  m[5]="Y
int makitya = 10000,1 = 0;
scanf ("%s”, s) ;
while(s[i] !="¥0"){
switch(s[i]) {

case 'm : m[0]++; break;
case 'a @ m[1]++; break;
case 'k’ @ m[2]++; break;
case ' i’ @ m[3]++; break;
case ' t’ @ m[4]++; break;
case 'y : m[b]++; break;
}

it++;

}
for (i=0;1<6;i++) {
if(i =1 && makitya > m[i]) /)& LGN CRIA
makitya = m[i];
if(i == 1 & makitya > m[i] / 2) /)& FFE
makitya = m[i] / 2;
}
printf ("%d”, makitya) ;

return 0;

}
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